



Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte

TO HAK

PURCHASE REQUEST

PPMP No.: 20-1-897-2024-0-0-0

Dept./Office: IHK

PR No.: STF-2024-01-00200

Date: 01-19-2024

Section/End-User: Marvin B. Bandalan

Category: Sports Supplies

Funding Source: Special Trust Fund

Project Title/Code: IHK Athletic Fee 2024

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Agility Training Ladder	рс	5	500.00	State	2,500.00
	Specification:	pc	5	2,500,00	Company of the	The ston on
	6 meters, 4mm thickness					
2	Aluminum Baseball Bat	рс	5	7,000.00		35,000.00

Specification:

- End cap
- · Built from AZR aluminum alloy
- Speed design
- · Length (in.): 32-inch handle is outfitted with an All-Sports grip
- Type: Slow Pitch
- Barrel diameter (in.):2 5/8"
- Product Type: Slow Pitch
- · Bat Certification: Approved by ISF
- Bat Material: Aluminum
- · Age Group: Adults'
- Activity: Baseball
- Multi-variable wall design
- Tightened production tolerances
- Patent pending Liquid-Gel anti-vibration knob
- · Micro-perforated soft-touch grip
- Ring-free barrel construction
- · Ergonomically designed handle taper for each weight drop

3	Arnis Padded Stick	pair	30	350.00	10,500.00
	Specification:		STATE OF THE STATE		
	Pair of Red and Blue Padded Sticks				4
4	Ball Sepak Takraw, Official Size	рс	10	1,000.00	10,000.00
	Specification:				10,000.00

Material: Heavy Plastic; Color: Brown/Yellow

Size: 5 x 5 x 5 Inch 12 Holes and 20 cross points 5 Ball, Basketball, G7, 10 2,500.00 рс 25,000.00 Specification: · FIBA Approved premium composite leather Signature patented 12-panel design. · Nylon wound butyl bladder. · Construction: Laminated. · Offical size and weight. · For indoor use only. • Size:7 · Comes inflated directly from the factory. 6 Ball, Basketball, GG6x, size 6 5 2,500.00 рс 12,500.00 Specification: FIBA Approved premium composite leather Signature patented 12-panel design. · Nylon wound butyl bladder. · Construction: Laminated. Offical size and weight. · For indoor use only. • Size: 6 · Comes inflated directly from the factory. Ball, Beach Volleyball 3,700.00 рс 5 18,500.00 Specification: Official Size and Weight FIVB Approved; Material: Super Composite Cover; Constrution: Stitched Iconic 10-paneled design with contrasting colors High Water Resistance; Size: 5 Size 66-68cm Weight 260-280g Super Composite Cover with Recycle-Nylon Material Construction Stitched 8 Ball, Softball 7,200.00 boxes 3 21,600.00 Specification: 12pcs/box Material: Leather

Color: Optic Yellow

Compression Controlled polycore

Super Seam Technology

 12" ASA-NFHS Dream Seam Fast Pitch SoftballWorth's Official 12" fast pitch softballs has red stitching and are approved for play in the ASA and NFHS. These Worth's Dream Seam softballs has a raised seam with a high density cork and Pro-Leather cover. ASA & NFHS Approved 12 inch. 47 COR 375 Compression High Density Cork Core Pro Leather Cover 88 Red Stitch

9 Ball, Table Tennis, 40+, Polyball boxes 20 300.00 6,000.00

Specification:

Product: Premium Clean 40+ ***

Type: with seam Stamp color 1: Black Stamp color 2: Red Color: White

10 Ball, Volleyball, Official Size pcs 13 3,500.00 45,500.00

Specification:

Material: Soft Leather

Construction: Laminated

Dimpled microfiber material

Blue and Yellow color pattern

Genuine, Approved by FIVB

- Exclusive official FIVB game ball Professional Model as seen in the world's top professional games
- Iconic 8 panel flower petal design with contrasting colors
- Double Dimple technology is used to minimize the air resistance and maximize the gripping power of the balls surface
- Original Microfiber + PU material co-developed by Mikasa and Kuraray to create the highest quality volleyball with Antisweat functionality

11 Baseball/Softball Leg/Shin Guard pair 3 3,500.00 10,500.00

Specification:

- Size: 2-Large, 2-Medium
 - Back: Quick Adjustable Velcro Straps
- Fit: Intelligent Knee Positioning Technology
- · Padding: Adjustable Inner Knee and Shin Pads
- Removable Panel: Adjustable/Removable Toe Flap
- Technology: Advanced Impact Mangement System (AIMS), Tri-Tech Padding, Pro Dri, SuperToe
- Usage: Leg Guards

12	Basketball Ring Net	pair	10	600.00	6,000.00
	Specification:				

Heavy Duty, Tri-color (Red, white, blue) · Basketball ring net · nylon multicolor heavy duty • 280g/pc • 12 loops • 7 raws of knots 13 Futsal Ball 2,500.00 5 12,500.00 рс Specification: • With PU Leather and 32 panel design (white and blue) · FIFA Inspected; Matte Surface Finish · Cover Material: PU Leather · Construction: Laminated; Butyl Bladder Home Plate, Softball/Baseball, 2 рс 1,000.00 2,000.00 White Hard Rubber, Official Specification: Rubber Home Plate Waffle bottom Throw down style plate • Chrome · Official home plate for baseball and softball Solid white rubber with black beveled edges for safety • 16"L x 17"W x 1"H · Includes 5 spikes · Weight: 10 lbs 1,500.00 15 Kalsomine Powder, 50kg 10 15,000.00 bag 16 Marking/Traffic Cones (Orange) 20 200.00 4,000.00 рс Specification: Height 0.31m Material PVC Accessory Training accessories 17 Referee Whistle for Basketball 20 650.00 13,000.00 pcs Specification: *Tough polycarbonate mouthpiece with a vertical reinforcing rib *Standard Loudness (easy to blow)

*Strong immediate sound with thick and sharp high pitch

*Durable mouthpiece

18	Rubber Coated Kettlebells	set	1	15,000.00	15,000.0
	Specification:				
	Durable rubber coating on the bell				
	Powder coated handle for grip flexibi	ility		*	
	Gravity-cast molded flat iron ore for r	max weight a	ccuracy		**
	80 Durometer premium rubber for lo	ngevity			
	International standard color-coded w				
	1 pc 4kg(8.8 lbs)	olght filligo			
	1 pc 8kg (17.6 lbs)				
	1 pc 16kg (35.2-lbs)			18,000,001	
9	Scoreboard for Volleyball	pc	6	1,000.00	6,000.
	Specification:	Po	0	1,000.00	6,000.
	Inger gloves				
	Manual Flip				
	can display from 00 to 99.				
	 This basket web is made by v Full grain is after shall and full 	Marking leath It grain teache	of end labers to	a daeser pocket	
0	Sepal Takraw Net, Official Tournament Size	рс	4	1,500.00	6,000.
0	Sepal Takraw Net, Official	рс	4	1,500.00	6,000.0
0	Sepal Takraw Net, Official Tournament Size Specification:	timal break in	penagara	NOV 1850	6,000.
0	Sepal Takraw Net, Official Tournament Size	timal break in	penagara	NOV 1850	6,000.
0	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70r	nm. With PV	penagara	NOV 1850	6,000.
0	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70r Mesh size 70mm sing	nm. With PV0	penagara	NOV 1850	6,000.
0	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70r Mesh size 70mm sing Thread TW (twister	nm. With PV0	penagara	NOV 1850	6,000.
0	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70n Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm	nm. With PV0	penagara	NOV 1850	6,000.0
0	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m	nm. With PV0	penagara	NOV 1850	6,000.0
0	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70n Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm	nm. With PV0	penagara	NOV 1850	6,000.
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m	nm. With PV0	penagara	NOV 1850	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m	nm. With PV0	C bands on the	perimeter.	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m Shuttlecock, 12 in 1 Specification:	nm. With PV0	C bands on the	perimeter. 1,500.00	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m Shuttlecock, 12 in 1 Specification: Power 400 Level: Middle available for	nm. With PV0	C bands on the	perimeter. 1,500.00	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m Shuttlecock, 12 in 1 Specification: Power 400 Level: Middle available for Genuine, Speed: 77(3)	nm. With PV0	C bands on the	perimeter. 1,500.00	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m Shuttlecock, 12 in 1 Specification: Power 400 Level: Middle available for	nm. With PV0	C bands on the	perimeter. 1,500.00	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m Shuttlecock, 12 in 1 Specification: Power 400 Level: Middle available for Genuine, Speed: 77(3)	nm. With PV0	C bands on the	perimeter. 1,500.00	al pain pad for impant
	Sepal Takraw Net, Official Tournament Size Specification: Dimensions: 6.1m x 0.7m. Mesh 70m Mesh size 70mm sing Thread TW (twister Thread diameter 1.5mm Length 6.1m Height 0.7m Shuttlecock, 12 in 1 Specification: Power 400 Level: Middle available for Genuine, Speed: 77(3) Head Material: Two Layer natural cor	nm. With PV0	C bands on the	perimeter. 1,500.00	75,000.0

Official Size

Synthetic Leather Cover

Construction: Laminated

Genuine, Approved by FIFA

- · Number of Panels: 32
- · Surface Finish: Mat Finish
- · Cover Material: PU Leather
- Construction: Laminated
- Butyl Bladder
- Size 5
- Outdoor Use

	and the second second		The same of the sa	
23 Softball Gloves, Standard Size	set	2	18,000.00	36,000.00

Specification:

12 pcs/set (10 finger gloves, 1 cacther's mitt, 1 1st Base mitt)

finger gloves

- · Features the 3D Basket Web patter
- This basket web is made by weaving leather and fabric for a deeper pocket
- Full grain leather shell and full grain leather laces
- Features patented hand adjustments for a snug fit
- Zero Shock Palm Pad reduces sting
- Lower finger stalls and more narrow hand opening for a small hand
- · Game ready feel requires minimal break in time
- Zero Shock sting reduction palm pad
- · This glove is suitable for infield, outfield, and pitcher
- Right Handed Glove
- Designed for Left-handed throwers
- Size is 12.5"

Catcher's Mitt

- Game-ready Right off the shelf, the Renegade Series[™] delivers quality at an affordable price.
- Ideal for youth, adult and recreational play, the features start with a full leather shell, an aditional palm pad for impact
 protection and a size-appropriate hand opening for maximum control.
- Sure Catch technology creates an easy-to-close glove right off the shelf, allowing for this to be your gamer glove with minimal break-in time.
- · Leather shell palm construction for durability and shape retention
- Durable and lightweight pro mesh back design for optimal balance and added quickness
- · High-density cushioned palm and index finger pads for added comfort
- · Game-ready feel right off the shelf
- Left Handed Glove
- Right Hand Throw

1st base mitt

- · Oil-Tanned Leather
- RHT (Right hand thrower)
- Left Handed Gloves
- · High density cushioned palm and finger back lining
- · Smooth inner lining with breathable materials
- · Recommended for Adult or elite player
- size: 12.5"

2	Space Cones Marker Discs	set	20	350.00	7,000.00
				The state of the s	THE R. P. LEWIS CO., LANSING, MICH. 499-14039-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1

Specification:

Space Cones Marker Discs set

Diameter: 19cm / 7.48"

Each Height: 3.8cm

Color: Orange

- [Included in the set] This exquisite toy cone accessory set consists of 60 bright eyes (red, orange, yellow, green, blue), 1
 mesh carrying bag and 1 plastic cone frame.
- [Durable-safe and flexible] Our thickened and upgraded ball cones are used for football practice. It is strong and light. The
 motion cone will not crack or fade.
- [High-quality ball cones] These ball cones are made of high-quality plastic, soft, soft, strong, sturdy, lightweight sports
 equipment, football cones, ball cones, football practice cones, basketball equipment and overall high-quality sports
 equipment and equipment sports accessories

	25	Spike Shoes	pc	20	4,500,00		90,000.00
--	----	-------------	----	----	----------	--	-----------

Specification:

- -Upper is glued to a thin fibre board, then cemented to the midsole NC Rubber® Outsole.
- -Pebax Spike Plate
- -Optimizes flexibility while maximizing durability.

26	Studshoes, Soccer	рс	10	4,000.00	40,000.00
20	Specification:				

- Size: 6", 7", 8", 9", 10" 11"
- Approved by FIFA

27 Tal	ble Tennis Net with Stand	pcs	3	1,000.00		3.000.00
--------	---------------------------	-----	---	----------	--	----------

Specification:

1 pc Table Tennis Net

2 pcs Iron Stand

Standard Size

Approved by ITTF

Color	Blue, Black				
Material	Metal				
Sport Type	Table Tennis				
Item Weight	0.99 Pounds				
Base Material	Metal			*	
Frame Material	Metal				
Top Material Type					
	Metal				
Age Range (Descripti	on) Adult				
28 Table Tennis Racket	рс	30	1,500.00	priprovenses	45,000.
Specification:				11/20/2019	40,000
Bottom: Pure Wood; Grip Me	eans: Horizontal ;	Grip Size: 160	152mm		
Baseboard Layer Number: 5	; Weight: Heavy 1	Fip Light Handle	e (Offensive)		
Rubber: Pimples In					
Dimension:26cm*15cm*1.2cm					
Length of shank:10cm					
Thickness of sponge:2.1mm					
Typedaen Kentuck					
Type:loop/fast attack					
Tomino I (dibbo)	рс	20	300.00		6:000.0
9 Table Tennis Rubber Specification:	рс	20	300.00		6,000.
Tomio (table)	рс	20	300.00		6,000.
Specification:	рс	20	300.00		6,000.
Specification: 5 pcs Black; 5 pcs Red			300.00		6,000.
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5			300.00		6,000.
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX			300.00		6,000.
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057			300.00		6,000.0
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX			300.00		6,000.0
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany			300.00		6,000.0
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany	d by national team	n players.			6,000.0
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification:	d by national team	n players.		2	
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis	d by national team	n players.			
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: Genuine Tennis Ball ITF Approved	d by national team	n players.			
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: • Genuine Tennis Ball	d by national team	n players.		2	
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: Genuine Tennis Ball ITF Approved Ball Speed: Medium Specification	d by national team	n players.			
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: Genuine Tennis Ball ITF Approved Ball Speed: Medium Specification	d by national team	n players.			20,000.0
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: Genuine Tennis Ball ITF Approved Ball Speed: Medium Specification: Volleyball Net with Cable.	d by national team tube	n players.	500.00		
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: Genuine Tennis Ball ITF Approved Ball Speed: Medium Specification: Volleyball Net with Cable, Standard Size Specification:	tube	n players.	2,500.00	1	20,000.t
Specification: 5 pcs Black; 5 pcs Red Pimple IN, Black Sponge High-end offensive rubber used HARDNESS 52.5 THICKNESS 2.0 / MAX APPROVAL 79-057 MADE IN Germany Tennis Ball, Lawn Tennis Specification: • Genuine Tennis Ball • ITF Approved • Ball Speed: Medium Sp • 3 pcs/Tube Volleyball Net with Cable, Standard Size Specification:	tube	n players.	2,500.00		20,000.t

 Vinyl Coated Steel Cable On Top The Border is made from double layered canvas (1.25 Inches Wide) New 32'X3' volleyball net. Color: Black • Size: 32 FTx3 FT (Official Size) Weight: About 1.8 Lb 646,600.00 TOTAL Purpose: For IHK use Funds Available: Checked by: HEAD, BUDGET OFFICE TWG - Sports Supplies Approved by: Noted by: Requested by Signature: CHARIS B. LIMBO - RIVERA DANIEL LESLIE S. TAN MARVIN B. BANDALAN Printed Name: UNITHEAD, PROJECT LEADER OIC-PRESIDENT, VSU END USER Designation: